



Name: \_\_\_\_\_

Date: \_\_\_\_\_ Score: \_\_\_\_\_

$$(5 - \frac{1}{2})^2 - \frac{1}{2} - \frac{3}{2} + 2^2 =$$

$$(\frac{3}{4} + \frac{1}{2})^2 + \frac{2}{5}(\frac{1}{3} - (\frac{1}{6})^2) =$$

$$(\frac{1}{2} - (\frac{1}{2})^2) \times \frac{3}{2} + (\frac{1}{2} - \frac{2}{3})^2 =$$

$$(4 + \frac{1}{2})^2 + \frac{3}{2} - 4^2 - \frac{1}{2} =$$

$$(\frac{1}{3} + (\frac{1}{5})^2) \times \frac{2}{5} - (\frac{1}{3} + \frac{1}{2})^2 =$$

$$(3 + \frac{1}{2})^2 + \frac{1}{2} \times \frac{1}{2} - 2^2 =$$

$$(\frac{1}{2} - \frac{1}{6})^2 + \frac{1}{3}(\frac{1}{2} - \frac{2}{5}) =$$

$$(4 + \frac{1}{2})^2 - \frac{2}{5} \times \frac{1}{2} - 3^2 =$$

$$(2 + \frac{1}{5})^2 - \frac{1}{5} + \frac{1}{5} + 2^2 =$$

$$(\frac{1}{2} - (\frac{1}{2})^2) \times \frac{1}{3} - (\frac{3}{2} + \frac{1}{3})^2 =$$



Name: \_\_\_\_\_

Date: \_\_\_\_\_ Score: \_\_\_\_\_

$$(5 - \frac{1}{2})^2 - \frac{1}{2} - \frac{3}{2} + 2^2 = \frac{89}{4} = 22\frac{1}{4}$$

$$(\frac{3}{4} + \frac{1}{2})^2 + \frac{2}{5}(\frac{1}{3} - (\frac{1}{6})^2) = \frac{1213}{720} = 1\frac{493}{720}$$

$$(\frac{1}{2} - (\frac{1}{2})^2) \times \frac{3}{2} + (\frac{1}{2} - \frac{2}{3})^2 = \frac{29}{72}$$

$$(4 + \frac{1}{2})^2 + \frac{3}{2} - 4^2 - \frac{1}{2} = \frac{21}{4} = 5\frac{1}{4}$$

$$(\frac{1}{3} + (\frac{1}{5})^2) \times \frac{2}{5} - (\frac{1}{3} + \frac{1}{2})^2 = (-\frac{2453}{4500})$$

$$(3 + \frac{1}{2})^2 + \frac{1}{2} \times \frac{1}{2} - 2^2 = \frac{17}{2} = 8\frac{1}{2}$$

$$(\frac{1}{2} - \frac{1}{6})^2 + \frac{1}{3}(\frac{1}{2} - \frac{2}{5}) = \frac{13}{90}$$

$$(4 + \frac{1}{2})^2 - \frac{2}{5} \times \frac{1}{2} - 3^2 = \frac{221}{20} = 11\frac{1}{20}$$

$$(2 + \frac{1}{5})^2 - \frac{1}{5} + \frac{1}{5} + 2^2 = \frac{221}{25} = 8\frac{21}{25}$$

$$(\frac{1}{2} - (\frac{1}{2})^2) \times \frac{1}{3} - (\frac{3}{2} + \frac{1}{3})^2 = (-\frac{59}{18}) = (-3\frac{5}{18})$$